I.0dev Cevap Anahtar

LV =x2Uy +xyUp,—=Us, v, = (=1,0,1),, p = (1,2, -3), f(x,¥,2) = xy*z*
a
a) vlfl=X% via—;(p) = —y?z?%|, + 0 + 2xy?z|, = =36 — 24 = —60
b) VIf] = x2Us[f] + xyUalf1- 2 Us[f] = x2y222 + 2x2y%7% — 2x%y?
= x%y2(3z%2 - 2)
2

a) V= %zzUl — %ny3

b) V() = (p1,p3 —02,0) =V =xU; + (z — y)U,
¢) V() = (—=p1,—p2—p3) =V = —xU; —yU, — zU3

3. a(t) = (2cos?t, sin2t, 2sint), h(s) = sin" s
B(s) = a(h(s)) = a(arcsins)

= (2cos?(arcsins), sin(2arcsins) , 2 sin(srcsins))

= (2(1 — 52),25/1 — 52,25)



